N of associated (recoToSim) looper tracks vs normalized x*

| N of associated (recoToSim) tracks vs normalized x? |

[N of reco track vs normalized x2 ]

track x2
DQM_correctCheck_mu_ptIioI000_etalpOtoIp5

DQM_original_mu_pt1to1000_etalpOtolp5

02
ﬂ/_x
eeadO X
— O
IS
...Jo &
—
e
—
R N
—
...Jlo
—
-0
---{o
EERE
ERRY N
=)
32
N <
v x
— O
s
. R
—
s
—
.e N
—
...le
—
ERRY I~
---{o
EERE
B
=)
Soel} e} oney
02
N <
00 X
— O
g
© =
—
<
—
o
—
o
—
0
©
<
o
L
53 o o = o =]
=) (=) = 3 8§ g
— — — Bl o
syoes ang oney syoesy angy oney

syoen

92 4 6 8 10 12 14 16 18 20

N of reco track vs.

syoen




	Contents
	Page 1


